
1) Find area of triangle 
a = 544 in, b = 740 in

Answer: ____________

2) 244 x 334

Answer: ____________

3) Find the mode of the following set of data:

6, 6, 6, 6, 60, 60, 8, 8, 8, 8

Answer: ____________

4) Find the mode of the following set of data:

6, 6, 6, 6, 60, 60, 8, 8, 8, 8

Answer: ____________

5) Convert the following mixed number 
1817/9 to an improper fraction.

Answer: ____________

6) Convert the following mixed number 
1817/9 to an improper fraction.

Answer: ____________

7)
26

Volume of Cone
22

Answer: ____________

8) Find perimeter of 
triangle
a = 203 cm, b = 368 
cm,
c = 511cm

Answer: ____________

9) Find perimeter of 
triangle
a = 203 cm, b = 368 
cm,
c = 511cm

Answer: ____________

10) 13/9 - 9/16

Answer: ____________

11) 86% of 34

Answer: ____________

12) Find the percentage change from 37.5 
to 69

Answer: ____________

13) Find the percentage change from 37.5 
to 69

Answer: ____________

14) 979 - 949

Answer: ____________

15) 1/102 of 204

Answer: ____________
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16) 15 x (-21)

Answer: ____________

17) Decrease 72 by 1/8

Answer: ____________

18) 1/16 of 80

Answer: ____________

19) 6/71 of 213

Answer: ____________

20) 27.9 ÷ 18.6

Answer: ____________

21) Find the percentage change from 4 to 
11

Answer: ____________

22) Find perimeter of 
square having each 
side (s) equals 103 m

Answer: ____________

23) 282.2 + 319

Answer: ____________

24) 400 ÷ 10

Answer: ____________

25) Find perimeter of 
square having each 
side (s) equals 208 in

Answer: ____________

26) Find the mean of the following set of data:

8, 23, 0.7, 0.8, 32, 0.8, 0.6, 0.3

Answer: ____________

27) b

a o c
Measure angle boa

Answer: ____________

28) 12/
5 ÷ 7/5

Answer: ____________

29) 12 - 20 x 1 x 18

Answer: ____________

30) 14/9 x 1/14

Answer: ____________
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31) Find area of 
rectangle having 
sides a = 642 m 
and b = 296 m

Answer: ____________

32) Convert the following improper 
fraction 202/13 + 15/11 to a mixed 
number

Answer: ____________

33) Round 11.83874 to 3 significant 
figures.

Answer: ____________

34) 103/20 ÷ 42/15

Answer: ____________

35) Find the median of the following set of data:

31, 31, 16, 3, 5, 10, 4, 40, 15, 16, 
24, 38, 29, 13, 13, 4, 11, 22, 3

Answer: ____________

36) Convert the following fraction into a 
mixed number: 10/7

Answer: ____________

37) Convert the following fraction into a 
mixed number: 10/7

Answer: ____________

38) 832 ÷ (-26)

Answer: ____________

39)
Find the next three numbers in 
the sequence
45,50,150,155,465,470,1410__,__,__

Answer: ____________

40) 1111/19 x 1412/19

Answer: ____________

41) Find the mode of the following set of data:

96, 96, 96, 35, 35, 35, 44, 44, 44, 
100, 100, 20, 20, 20, 20, 92, 92, 92, 
92, 92, 92

Answer: ____________

42) Find perimeter of 
square having each 
side (s) equals 682 m

Answer: ____________

43) 999 ÷ 37

Answer: ____________

44) Increase 146 by 1/73

Answer: ____________

45) Find the mean of the following set of data:

28, 13

Answer: ____________
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46) 'What is the probability of rolling a 
multiple of 6.when rolling a dice

Answer: ____________

47) 768 + (-820)

Answer: ____________

48) 1200 ÷ 100

Answer: ____________

49) 1515/20 ÷ 815/16

Answer: ____________

50) 1515/20 ÷ 815/16

Answer: ____________

Total: ___ / 50
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Answers:

1) 128144.04694718in 2) 81496 3) 6 4) 6 5) 179/9 6) 179/9 7) 13177.933984258

8) 1082cm 9) 1082cm 10) 127/144 11) 29.24 12) 84% 13) 84% 14) 30

15) 2 16) 17) 63 18) 5 19) 18 20) 1.5 21) 175%

22) 412m 23) 601.2 24) 40 25) 832in 26) 8.28 27) 150 28) 15/7

29) 30) 1/9 31) 190032m 32) 2187/143 33) 11.8 34) 2113/248 35) 16

36) 13/7 37) 13/7 38) -32 39) 1415,4245,4250, 40) 169151/361 41) 92 42) 2728m

43) 27 44) 148 45) 20.5 46) 1/6 47) -52 48) 12 49) 1109/143

50) 1109/143
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